ERHE — 2REHOV S 7ICET 2HEE 2009.5.13 (3B : (k)

WRE1| BETBy=alz —p)2+qDI 7 7DOMIBEEZD1OIL, y=22 DI 77
AL L, 20 % ZBBEOERTHWILT 2 TEEFNLE LD, Ty =a2? % 20
(2 DDJ1N) P EIT 5, EEZTHELTL I,

Y = ar
Yi
@ WIS (+p) PATRH
y WA (+q) VATBE
9) T
(a >0 DEH) (p,q > 0 DHA)

BE 1. RO2XKE%%E y=a(lx—p)?+qDIFTHERL, V7 70MBEHE LI v,

(1) y=2% % @7 (42), y8gmc (+1) 2 TBEH L2 b o,

(2) y = —22 % 2 W (+1), y 8RS (—2) ZOFABEIL 7 b o,



ERHE — 2REHOV S 7ICET 2HEE 2009.5.13 (3B : (k)

BE2| Ry=alz—p)?+q¢»6 202 XELOWEE S DFZEL, 777 OME
BEZITHD,

o BBly=a(r—p)?+qlda=pDLEy=q 056, 777F5 (p,q) ZB3.
e a>0DtEa(r—p)? BLTOUETHZ (BE¥LSEALFELED 2 FETIIXO
Dhicza L, O LEOELEICIEDE a 200237 bDb 0 ETHS), Lk

35T,
y=alz—p)P+qg={0k}+gq

E%D, a>0&E, yDERZRT qUETH 2.

LEMBRICEZ S L, a<0&EE, yDEREDBT qUTTHLZ ED0D 5,
y=q ¢ %503 x=pDLEEDHR, DFD, a>0DLEH (p,q) 777 Dix
/IME (@ < 0D EZIFRKE) 252%. ZOM (p,q) ZIERE XA,
r=00DLE y=ap’+q DFH y#EDRAIF (0,ap® + q).

BIRE 2. ROWEZFRFO2XBEHZ y=a(r —p)? +q DB THEHEEL, 777 L™
2>, NTihab X k|

(2) THAD (1,2) T, yiii& D2ZEDY(0,1).



